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1124 2= 11544 =

2 44 3= sl 4+ 4 =

319+ 2= 9/ 14+ 5=

4 44+4= 100543 =

51 3+ 1= 1 445=

6 44+ 1= 224 1=
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11+5= 7192492 =

2| 3+2= 3| 34+ 5=

3/ 4+ 3= 0] {1+4=

424+ 3= 03+4=

5/ 9+ 2= 1 54+3=

6/ 5+ 1= 2 5+ 5=
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REBXFOELUE bigAO02-(3)

24+ 95= 1114+ 3=

22+ 1= sl 4+ 4 =

313+2= 9| 144 =

41 9+1= 1034+ 1=

5144 1= M3+ 3=

6 44 95= 12 44 2=
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REBNFDREUE 2)|=> 111+5= 6 124+2= 4

PigA002 213+2=5 [83+5=8

[@EZ{ ] 3/44+3= 17 9/ 1+4= 9

= 4/24+3=95 [03+4=7

1 5 5/9+2=7 [15+3=8
I N 6/ 9+1=6 [25+5= 10
1124+2= 4 119+4=9 | 1]24+5=7 11+3=4
2| 44+3= 7 8/44+4= 8 | 2/12+1= 3 s/ 4+4= 8
309+2=17 9/ 14+5=6 | 3/3+2= 5 9/14+4= 35
4/4+4=8 [103+3=8 | 45+1=6 [d3+1=4
5/ 3+1=4 [1144+5=9 | 5144+1=5 [113+3=6
6/4+1=95 1224+1=3 | 64+5=9 [12/44+2= 6
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